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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 31 gSaA  

 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 31 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

SET : A 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds mijkUr bl mijkUr bl mijkUr bl mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i) bl iz'u&i= esa dqy 31 iz'u gSa] ftUgsa pkjpkjpkjpkj [k.Mksa % ^v*] ^c*] ^l*^v*] ^c*] ^l*^v*] ^c*] ^l*^v*] ^c*] ^l* rFkk ^n*^n*^n*^n* esa ck¡Vk x;k gSA    

        This question-paper consist of 31 questions, which are divided into four 

Sections : 'A', 'B', 'C' & 'D'. 
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 (ii) lHkh ç'ulHkh ç'ulHkh ç'ulHkh ç'u    vfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaA    

        All questions are compulsory. 

    (iii) [k.M&[k.M&[k.M&[k.M&vvvv esa iz'u la[;k 1 ls 15 rd oLrqfu"B iz'u gSaA funsZ'kkuqlkj bu iz'uksa ds mÙkj nhft,A 

izR;sd iz'u 1 vad dk gSA    

        Section-A consist of Question Nos. 1 to 15 Objective Type Questions. Answer 

these questions as per instructions. Each question carries 1 mark. 

 (iv) [k.M&[k.M&[k.M&[k.M&cccc esa iz'u la[;k 16 ls 22 rd vfry?kq mÙkjh; iz'u gSaA izR;sd iz'u 2 vadkas dk gSA    

        Section-B consist of Question Nos. 16 to 22 Very Short Answer Type 

Questions. Each question carries 2 marks. 

 (v) [k.M[k.M[k.M[k.M&&&&llll esa iz'u la[;k 23 ls 29 rd y?kq mÙkjh; iz'u gSaA izR;sd iz'u 3 vadkas dk gSA    

        Section-C consist of Question Nos. 23 to 29 Short Answer Type Questions. 

Each question carries 3 marks. 

 (vi) [k.M&[k.M&[k.M&[k.M&nnnn esa iz'u la[;k 30 ,oa 31 nh?kZ mÙkjh; iz'u gSaA izR;sd iz'u 5 vadkas dk gSA    

        Section-D consist of Question Nos. 30 & 31 Long Answer Type Questions. 

Each question carries 5 marks. 

 (vii) dqN iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,ddsoy ,ddsoy ,ddsoy ,d gh iz'u djuk 

gSA 

  Internal choice are given in some questions. You have to attempt only one    

of the given choice in such questions. 
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            [k.M & v[k.M & v[k.M & v[k.M & v 

SECTION – A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh fodYi pqfu, % 

Select the correct option of the following multiple choice questions : 

  1. baMksj [ksy gS % 1 

 (A) gkWdh 

 (B) fØdsV 

 (C) 'krjat 

 (D) cSMfeaVu 

 Indoor game is : 

 (A) Hockey 

 (B) Cricket 

 (C) Chess 

 (D) Badminton 
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  2. f'k'kqvksa ds nk¡rksa dh la[;k fdruh gksrh gS \ 1 

 (A) 20 (B) 15 

 (C) 22 (D) 16 

 What is the number of teeth in infant ? 

 (A) 20 (B) 15 

 (C) 22 (D) 16 

  3. izca/ku dk egÙo c<+us dk dkj.k gS % 1 

 (A) egaxkbZ 

 (B) c<+rh gqbZ tula[;k 

 (C) bPNk,¡ 

 (D) ;s lHkh 

 Reason for increasing the importance of management : 

 (A) Costliness 

 (B) Increasing population 

 (C) Desires 

 (D) All of these 
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  4. vkjke djds ge ………… dk iqu% lapkj dj ldrs gSaA 1 

 (A) le; (B) 'kfDr 

 (C) /ku (D) ;s lHkh 

 By taking rest we can regain ………… . 

 (A) Time (B) Energy 

 (C) Money (D) All of these 

  5. fuEufyf[kr esa ls vfodkjh; inkFkZ ugha ugha ugha ugha     gS % 1 

 (A) cktjk (B) lkcwnkuk 

 (C) ngh (D) puk 

 Which in not a non-perishable from the following ? 

 (A) Pearl Millet (B) Sago 

 (C) Curd (D) Gram 

  6. ek¡ ds nw/k esa dkSu-lk ikSf"Vd rÙo ughaughaughaugha gksrk gS \ 1 

 (A) dSfY'k;e (B) yksgk 

 (C) foVkfeu ^,* (D) iksVSf'k;e 
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 Which nutrient is not found in mothers milk ? 

 (A) Calcium (B) Iron 

 (C) Vitamin A (D) Potassium 

fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %    

Fill in the blanks : 

  7. izlo ds ckn ek¡ ds Lruksa ls tks ihyk inkFkZ lzkfor gksrk gS] mls ………… dgrs gSaA 1 

 Yellow liquid comes from mother's breast after delivery is called ………… . 

  8. fo'o miHkksDrk fnol ………… dks euk;k tkrk gSA 1 

 World Consumer Day is celebrated on ………… . 

  9. xsgw¡ rFkk nkyksa ij ………… ekdZ yxk;k tkrk gSA 1 

 ………… mark is marked on wheat and pulses. 

fuEufyf[kr iz'uksa ds mÙkj ,d&nks,d&nks,d&nks,d&nks 'kCnksa@okD;ksa 'kCnksa@okD;ksa 'kCnksa@okD;ksa 'kCnksa@okD;ksa esa nhft, % 

Answer the following questions in one-two words/sentences : 

10. fodkl dh ml rhoz voLFkk dk uke crkb, tc ckyd o;Ldrk dh vksj c<+rk gSA 1 

 Name of fast stage of development when a child is growing to become an adult. 



  ( 8 ) 2113/(Set : A) 

2113/(Set : A) 

11. fdlh ,d,d,d,d ekuoh; lk/ku dk uke crkb,A 1 

 Name any one human resource. 

12. og izfØ;k ftlls [kk| inkFkZ ds xq.k-iks"kdrk rFkk izÑfr esa ifjorZu vk tkrk gSA 1 

 The process due to that quality, nutritional value and nature of food products is 

changed. 

fuEufyf[kr iz'uksa ¼iz0 la0 13 ls 15½ esa vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) vkSj dkj.k dkj.k dkj.k dkj.k (R) ds :i esa nksnksnksnks-nksnksnksnks    dFku fn;s x, gSaA 
nksuksa dFkuksa dks /;kuiwoZd i<sa+ vkSj uhps fn, x, mi;qDr fodYi dk p;udj iz'uksa ds mÙkj nhft, % 

The following questions (Q. No. 13 to 15) consist of two statements namely 

Assertion (A) and Reason (R). Read both statements carefully and answer the 

questions by selecting the appropriate option given below : 

13. vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A)    : dqN [kk| inkFkZ tYnh [kjkc gks tkrs gSaA 1 

 dkj.k dkj.k dkj.k dkj.k (R) : [kk| inkFkks± ds [kjkc gksus dk dkj.k ueh vkSj thok.kq gSaA 

 fodYi %fodYi %fodYi %fodYi %    

 (A) dsoy vfHkdFku (A) lgh gSA 

 (B) dsoy dkj.k  (R) lgh gSA 

 (C) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSa vkSj dkj.k (R), vfHkdFku (A) dk lgh Li"Vhdj.k gSA 

 (D) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSa] ysfdu dkj.k (R), vfHkdFku (A) dk lgh Li"Vhdj.k 

ugha gSA 
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 Assertion (A) : Some food products are perishable. 

 Reason (R) : Moisture and micro-organisms are main causes of spoiling food 

products. 

 Options : 

 (A) Only Assertion (A) is correct. 

 (B) Only Reason (R) is correct. 

 (C) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct 

explanation of Assertion (A). 

 (D) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the 

correct explanation of Assertion (A). 

14. vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A)    : fd'kksjkoLFkk esa izksVhu dh vko';drk c<+ tkrh gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R) : fd'kksjkoLFkk esa fodkl nj lcls vf/kd gksrh gSA 

 fodYi %fodYi %fodYi %fodYi %    

 (A) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSaA 

 (B) dsoy vfHkdFku  (A) lgh gSA 

 (C) dsoy dkj.k (R) lgh gSA 

 (D) vfHkdFku (A) vkSj dkj.k (R) nksuksa xyr gaSA  
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 Assertion (A) : Requirement of protein is increased in Adolescent. 

 Reason (R) : Development rate is maximum in adolescent. 

 Options : 

 (A) Both Assertion (A) and Reason (R) are correct. 

 (B) Only Assertion (A) is correct. 

 (C) Only Reason (R) is correct. 

 (D) Both Assertion (A) and Reason (R) are incorrect. 

15. vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A)    : bZdks ekdZ ekudhdj.k fpg~u i;kZoj.k eS=h mRiknksa dks iznku fd;k tkrk gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R) : bZdks ekdZ dk izrhdkRed fpg~u frryh gSA 

 fodYi %fodYi %fodYi %fodYi %    

 (A) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSa rFkk dkj.k (R) vfHkdFku (A) dh lgh O;k[;k djrk 

gSA 

 (B) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSa] fdUrq dkj.k (R) vfHkdFku (A) dh lgh O;k[;k ugha 

djrk gSA 

 (C) vfHkdFku (A)  lgh gS] fdUrq dkj.k (R) xyr gSA 

 (D) vfHkdFku (A) xyr gS] fdUrq dkj.k (R) lgh gSA 
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 Assertion (A) : Standardization mark – Eco mark is provided to eco-friendly 

products. 

 Reason (R) : Eco mark is identified by a butterfly symbol. 

 Options : 

 (A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (C) Assertion (A) is correct, but Reason (R) is incorrect. 

 (D) Assertion (A) is incorrect, but Reason (R) is correct.    

[k.M[k.M[k.M[k.M – cccc 

SECTION – B 

¼vfry?kq mÙkjh; iz'u½¼vfry?kq mÙkjh; iz'u½¼vfry?kq mÙkjh; iz'u½¼vfry?kq mÙkjh; iz'u½    

(Very Short Answer Type Questions) 

16. jpukRed [ksy dks ifjHkkf"kr djsaA 2 

 Define constructive play. 

vFkokvFkokvFkokvFkok    

OR 

 [ksy rFkk dk;Z esa vUrj Li"V djsaA 
 Explain the difference between play and work. 
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17. P. F. A. dk iwjk uke fyf[k,A 2 

 Write full form of P. F. A. 

18. le; izca/ku ij uksV fyf[k,A 2 

 Write note on time management. 

19. ctV cukus ls ifjokj dks D;k ykHk izkIr gksrs gSa \ 2 

 What are the advantages of making budget for a family ? 

vFkokvFkokvFkokvFkok    

OR 

 pkjpkjpkjpkj  inkFkZ ftlls LVkpZ cuk;k tkrk gS] fyf[k,A 

 Write four items used for making starch. 

20. MªkWIlh chekjh dk dkj.k rFkk y{k.k crkb,A 2 

 What is the cause of dropsy disease, also mention its symptoms ? 

21. yky nokbZ D;k gS \ 2 

 What is potassium permanganate ? 
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vFkokvFkokvFkokvFkok    

OR 

 tSoys ikuh ij uksV fyf[k,A 

 Write note on Javelle Water. 

22. [kfut /kCcksa ds pkjpkjpkjpkj mnkgj.k nhft,A 2 

 Give four examples of mineral stains.  

            [k.M & [k.M & [k.M & [k.M & llll    

SECTION – C 

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½    

(Short Answer Type Questions) 

23. larqfyr vkgkj rS;kj djrs le; fdu ckrksa dk /;ku j[kk tkuk pkfg, \ 3 

 What are the various points that should be kept in mind while preparing a 

balanced diet ? 
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vFkokvFkokvFkokvFkok    

OR 

 ekrk dk f'k'kq dks nw/k fiykuk] f'k'kq rFkk ekrk nksuksa ds fy, ykHkdkjh gS] dSls \ 

 Feeding mother's milk to a baby is beneficial for both mother and her baby, 

explain how ? 

24. miHkksDrk dks dkSu-dkSu-ls vf/kdkj izkIr gSa \ lwfpc) djsaA 3 

 List down various rights of a consumer. 

25. ,d vPNs yscy esa D;k-D;k tkudkjh gksuh pkfg, \ 3 

 What informations should be available in a good label ? 

26. /kCcs NqM+kus dh izeq[k fof/k;k¡ dkSu-lh gSa \ 3 

 List down various methods of removing stains. 

27. fd'kksjkoLFkk esa gksus okyh izeq[k leL;k,¡ dkSu-lh gaS \ la{ksi esa o.kZu djsa A 3 

 What are the main problems faced during adolescence ? Explain in brief. 
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vFkokvFkokvFkokvFkok    

OR 

 ÅtkZ izca/ku dks izHkkfor djus okys dkjdksa ds uke crkb,A 

 Name various factors affecting energy management.  

28. dk;Z ljyhdj.k ds fl)kUrksa ds ckjs esa la{ksi esa crkb,A 3 

 Briefly explain principles of work simplification. 

29. ikfjokfjd vk; dks c<+kus ds lk/ku crkb;sA 3 

 Tell the sources to increase family income. 

vFkokvFkokvFkokvFkok    

OR 

 ikfjokfjd vk; fdrus izdkj dh gksrh gS] o.kZu djsaA 

 Explain the types of family income. 

            [k.M & [k.M & [k.M & [k.M & nnnn    

SECTION – D 

¼¼¼¼nh?kZ nh?kZ nh?kZ nh?kZ mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½    

(Long Answer Type Questions) 

30. vkgkj vk;kstu dks izHkkfor djus okys dkjdksa dk foLrkjiwoZd o.kZu djsaA 5 

 Explain factors effecting meal planning in detail. 
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vFkokvFkokvFkokvFkok    

OR 

 miHkksDrk dh leL;kvksa ij izdk'k MkysaA 

 Throw light on the problems faced by a consumer. 

31. miHkksDrk lgk;rk ds izeq[k lk/kuksa ij fVIi.kh djsaA 5 

 Comment on Consumer Aids. 

vFkokvFkokvFkokvFkok    

OR 

 /kCcksa ds izdkj rFkk mudks mrkjus ds lkekU;/vko';d fu;eksa ds ckjs esa foLrkjiwoZd O;k[;k djsaA 

 Explain types of stains and important rules of removing stains in detail. 

S 

 


